algebra oct w.notebook

@ Lesson Quiz

Solve each equation.

1.7x+2=5x+8 X= 3
2. 42x-5)=5x+4 X=

.6-Tl@+=-32-aa X= 2L

4. 4(3x+ 1) —Tx=6+5x—2 —_th\: '>¢
QBx+ 1 X=6+ 5x — >< mﬂ\{ <9/ AN

5. %(3x+9)=8x ><=)

6. A painting company charges $250 base plus $16 per hour.
Another painting company charges $210 base plus $18 per
hour. How Iong is a job for which the two companies costs
are {ha.same”?
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Solving Equations with Variables on Both Sides

Solve each equation. Check your answers.

1. 3d+8=2d-17 L 2n-7=5n-10 S‘p—15=13—ﬁp

d= 25 N=1 p=4
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4. ~t+5=t-19 5. 15x=10==-9x+2 6. 1.8r+9==57r-6
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X=5 “The Solution
5= No Solohon

5 -5 Infinately many solutions
or identity
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y= 1% N= Ty =3

T.2y+3=3(y+7) 8.4n+6-2n=2(n+3) 9.6m-8=2+9m-1
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b: 3/'2_ t=-3

October 02, 2017

10. -v+5+6v=1+5v+3 11.2(3b-4)=8b-11 12. 5(r-1)=2(r-4)-6

N/S,

0. v+5+6v=1+5v+3
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12. 5(r=1)=2(r-4) -6
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Answer each of the following.

13. Janine has job offers at two companies. One
company offers a starting salary of $28,000 with
a raise of $3000 each year. The other company
offers a starting salary of $36,000 with a raise of
$2000 each year.

a. After how many years would Janine's salary be
the same with both companies?

b. What would that salary be?
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14. Xian and his cousin both collect stamps. Xian has
56 stamps, and his cousin has 80 stamps. Both have
recently joined different stamp-collecting clubs. Xian's
club will send him 12 new stamps per month, and his
cousin’s club will send him 8 new stamps per month.

a. After how many months will Xian and his cousin
have the same number of stamps?

b. How many stamps will that be?
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Flip the sign ol M’ equa ii if coefficient

is negative!
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